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28 October 2017 MATHEMATICS  Duration: 1 h 45 min
SECTION A (40 marks)

Questions 1 to 20 carty 2 marks each, For esach question, four options are
given. One of them is the correct answer. Make your cholce (1, 2, 3 or 4).
8hade the correct oval (1, 2, 3 or 4) on the Optical Answer Shset (OAS),

1.

Which number I8 1008 more than 88877

(1) 7682
(2) 8892
(3) 9902

(4) 9882

What is the difference betwesn 275 and 40837

() 1313
(2) 3788
(@) 4212
(4) 4328
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[

. $25.35 - $7.680 =

2508m= ___ km m
(1) 2km 68m

(2) 2km 508m

(3) 25km 8m

{4) 25km 60m

Find the mass of the packet of cookles below,

(1) 164g
(20 185¢g
3 170g
@ 180g

() $17.75
(2) $18.35
(3) $22.35
4) %3285
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6. How much water Is in the beaker shown below?

0
(2)
(3)
)

N 1000 me

40 mi
80mt
400 m¢

800 me

7. What is the missing number in the box?

(1) 8
2 9
(3 3
(4) 4

s U

4 12
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8. How many minutes are there in 3 h 15 min?

(1) 185 min
(2) 315 min
(3) 3015 min
(4) 3150 min

9. Which line is parallel to line PW?

Q

£

N

(1) Qx
@ TY
3) 8V

(4 RU
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10. What Is the perimeter of the shaded figure shown below?

11.

12.

M

1cm
=

Iicm

7 cm

() 14om
(3) 16.cm
(@) 22cem

Jason pald $379 for an electric kettle. He paid another $6821 for a

washing machine, How much did he spend altogether?

M
@)
@)
4)

$5442
$6190
$6200
$9611

Express 4 kg 90 g in grams.

(M
()
(3
)

40949
480 g
4090 ¢
4800 g
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13.  Kitspent $17.25 on a dictionary. She gave the cashier $50.

How much change did she get?

(1)
(2)
(3)
(4)

$18.75
$32.75
$47.25

$67.25

14.  The greph shows the number of books in the bookstores.
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Bookstore A Bookstore B Bookstore ¢ Bookstore D
Name of Bookstore

Bookstore B has twice the number of books as in Bookstore C.
How many books are there in all the bookstores?

(1)
(2)
(3)
(4)

80
154 -
165
174
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3 12
1
(1) 9
1
2 3
.
(3) =
3
4) 2

16. What Is the time shown on the clock below?

(1) 13 minutes past 10
(2) 13 minutes to 10
(3) 13 minutes past 11
(4) 13 minutes to 11
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17.  Whatis the area of the shaded figure?

1 cm
+——3

T T T T 0 e
!

(1) 9em?

2) 10cm?
8 11 cm?
4) 12cm?

18.  Sitl has an equal number of boxes of orangss and apples. Each box of
oranges has 5 oranges in it. Each box of apples has 3 apples in it. The
difference between the total number of oranges and the fotal number of
apples is 20. How many apples are there?

(1) 15

2) 35
(3) 30
4) 50
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18.

20.

Pauline took 1 h 35 min to complete her homework. She rested for half an hour
and took another 1 h 15 min to complete Sudoku puzzles. She completed both
her adclivities at 4.20 p.m. When did she start on her homework?

(1) 1.00 p.m.
(2) 1.30p.m.
(3) 7.10 p.m.

4) 7.40 p.m.

The flgure is made up of 2 identical rectangles. Find the perimeter of the figure.

14 cm

2ch 8 cm

A
N7

A
Y

(1) 50 cm
(2) 52 cm
(3) 56 cm
(4) 84 cm
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SECTION B {40 marks)

Questions 21 to 40 carry 2 marks each. Write your answe
provided. For questlons which require units,
stated. All dlagrams are not drawn to scale.
expressed in the simplest form. Marks will be a

rs in the spaces
dive your answers in the units
Answers In fractions must be
warded for relevant working.

21.  Write ejght thousand, seven hundred and four in numerals.

Ans:
22, Find the sum of 589 and 4914,
Ans:
238.  Whatis the remainder when 607 is divided by 67
Ans:
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24,

The graph shows the number of animals at Farmer Joe's farm.
Answer Question 24.
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Number of animals at Farmer Joe's farm

. - . .
e e e P ot i e e i - e

Chickens
Types of animals

Find the total number of cows and chickens.

Ang:
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25. Express %g as a fraction in its simplast form,

Ans:

26.  Monica went for a movie which started at 5,10 p.m. ltended at 7.05 p.m,
How long was the movie? Express your answer in hours and minutes.
Ans: _ h min
af.

Which angle Is greater than a right angle?

TN

Ans: £
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28, Find the sum of 2609 + 869,

Which digit in your answer Is in the thousands placa?

Ans:

29, Look at the four number cards. Find the difference between the largest odd number

and the smallest even number.

4832 4831 4318 4183
30. Express 4 m 8 ¢m in centimetres.
Page 13 of 24
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31.

32.

Tammy and Hans drank 1200
milk as Hans. How mugh milk did Hans drink?

Ans:

mé of milkk. Tammy drank 2 times as much

mi

A blouse cost $50.50, It cost $20.80 more than a skirt.
What was the cost of the skirt?

Ans: 8
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Types of flowers

The graph shows the number of stalks of flowers in a shop.
Answer Question 33.

Dalsles

Tulips

- -

=
- -
-

Orchlds

Lilles .

-
-

-

Roses
0 20 40 60 £0 100 120

Number of stalks of flowers

33. How many more stalks of orchids than lilies are there in the shop?

Ans:

-

P —————— et bt ey

34. Flonaspent % of her money on a pen and % of her monsy on a dictionary.

What fraction of her money did she spend?

Ans:
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35.  Drawa line Pemendicular to \Wx passing through point Y,

T
S Y AN
BN

Find the missing number in the following number pattem.

5082, 5132, 5052, 5102, , 8072, 4992
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37. The sum of two numbers is 8095. The bigger number is 4372.
Find the difference between the two numbers.

Ans:

38. There were 273 marbles in a bag. John packed 3 such bags of marbles
equally into 7 similar boxes. How many marbles were there in each box?

Ans:

39. MrYang has 38 apples, He places all of them into baskets. Each basket can hold at
most 6 apples. What is the least number of baskets he needs?
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40.  Arrange the following fractions in order, beginning with the greatest

fraction.
z 2 1 5
Ans; ; .
(CGreatest)
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SECTION C (20 marks)

For questions 41 to 46, show your working clearly in the space provided below
each question and write your answer with suitable units in the spaces provided.
All dlagrams are not drawn to scale. Answers in fractions must be expressed In
the simplest form. Marks will be awarded for relevant working. The number of

marks available is shown In brackets [ ] at the end of each question or part-
gquestion.

41. The total mass of a dictionary and a storybook Is 2250 g.
The dictionary is 480 g heavier than the storybook.
a) What is the mass of the storybook?
b) What Is the mass of the dictionary?

Ans: (a) [2]

) 1]
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42,

Pole A is twice as long as Pole B. Pole B is 150 ¢m
Pole C is 124 cm shorter than Pole A

a) What s the length of Pole B?
b) What is the length of Pola A%

Answer: a)

shorter than Pole C.

2]

b)

{1
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43.

A scientist used 20 lizards and ants for an experiment.
The lizards and ants have a total of 104 legs.
Each lizard has 4 legs and each ant has 8 legs.

What was the number of lizards used by the scientists?

Answer:

[3]
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The mass of 7 small iron balls in a box was 990 g.
When James took away 4 iron balls from the box, the mass of the box and

the remaining Iron balls became 570 g. What was the mass of one iron
bali?

... ¥

Answer: 13]
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45,

A rectangular plece of paper measures 20 cm by 7 cm.
Winston cuts out 4 equal squares from the piece of paper.

After cutting the 4 squares, he has 40 cm? of the paper left.

What is the area of each square?

20 cm

A
A4

7cm

Answer:

4]
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- Tracey, Jane and Lela had $880 altogether. Tracey had $160 more than
' Jane. Jane had twice as much money as Lela.

a) How much money did Lela have?
b) How much money did Tracey have?

Answer. a) _[2]
b) [2]
-End of Paper-
Please check your work carefully ©
Sefters: TanCP
Wirda 8.
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) 2 2 3 1 3 2 1 a 3
Q1 | a2 Q13 | Qua Q15 | Q16 Qi7 | ai8 Q1s | Q0
3 3 2 2 4 1 3 3 1 2
21)8704 22)5503 23)1 24)160 25)3/7
26)1 h 55 min 27)C 28)3 29)513 30)408 cm
31)400 ml 32)$29.70 33)60 34)7/10
35)
e %
y 1/
I
36)5022 37)649 38)117 39)7 40)5/6,%,7/12 , %
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41)a)2250 g -480g=1770 ¢
1770g +2=885g¢
The mass of the storybook is 885g.
b)885g+480g=1365¢g
The mass of the dictionary is 1365 g.
42)a)150 cm + 124 cm = 274 cm
The length of pole B is 274 cm.
b)274 cm x 2 =548 cm

The length of pole A is 548 cm.
43)20 x 6 = 120

120-104=16
6~4=2
16 —-2=8
The scientist used 8 lizards.
44)990 g —-570g=420g
7-3=4
420g - 4=105g
45)20 cm x 7 cm = 140 cm2
140 cm2 —40 cm2 = 100 cm2
160 cm2-+-4=25 cm2
46)a)$S880 - $160 = $720 46)b)$144 x 2 = $288
$720 + 5=%144 $288 + $160 = $448

Lela have $144 Tracey have $448
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